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RAR IS Bt E K

BEENWK | BALSYLREES
A B LSS RIS KA = AN + B LB A =
b T 78,000 m? = oK FHIKALEERE S 100 m’/8
B AE = 1,300,000 m?® FBKAENSE 4,500 m?
FFENERRAAQ 130,731 A QLIRS 7 BiE BOD 30 mg/|
FHEUEAD 130,731 A K& ss 70 mg/|
(1) nn=EHFX
_ X % 4 A 58 64 78 8H 9H 108 | 11HA | 124 18 2HA 3A &
aJ R 22 49| 225 288 116 171 110 27( 145 0 0 34| 1,186
* TER-HHKRZSH 43 32 44 83 31 104 46 45 59 16 39 63 606
18 fRiE5%E 98| 142 130| 149 123 104| 143 84 153 115 83| 151 1,477
V3 IR EY) 2 3 3 4 2 2 3 2 4 2 2 1 28
- INEF 165 225] 401 524| 272 381 302 158] 360| 133] 125] 249] 3,297
= L ;‘ﬁ — — — — — — — — - - - - —
A = (1) 165 225| 401 524| 272 381 302 158] 360| 133] 125] 249] 3,297
- F (m3) 133 193] 432] 561 269| 385| 288 131 352 96 90| 202| 3,132
(1) 26 30 44 46 38 42 43 24 22 16 11 22 364
BrE
(m%) 16 19 28 29 24 26 27 15 14 10 7 14 229
WIBOITE |[(md) 1491 212] 460 590 293 411 315] 146| 366] 106 971 216 3,361
HTEBERARE (FmS)| 9680 ] 9678 | 967.3 | 966.8 | 966.5 | 966.0 | 965.7 | 965.6 | 965.2 | 965.1 | 965.0 | 964.8 964.8
=HR oy 101 101 99| 110 127/ 160| 144| 151 139 135 103| 105 123
NIBK= & K 106 112 106 151 159 193 155 154 150 166 116] 114 193
(m®/R8) & 96 85 80 96 90| 150 111 137 130 100 53 40 40
(2) MEROIKR
48| 5A|6A|7A|8H|9H|10R118124 1A|2A| 3H
BEROFHRR @ 5@ 5@ 5@ E[@- E5@- E5@®- E[®- E[®- 5[®- &®- &®- &
ERENRERRE @B 5@ 4@ 4@ 4@ 1® 1® 1® 51® 5® 5® 5® &
BLoRR B 5@ 5D 5D 5@ 5@ 5@ 2@ 5@ 5@ 5@ 5B &
CHORE. Kt (B 5D 5D 5D 5D D D 5D 5® 5@ 5@ 5@ &
BHKORNHEE B 5@ 40 5@ 40 5@ 40 5@ 40 5@ 4B 5® 5
RE. EREORE @ 4@ 50 1@ 4@ 10 5® 1@ A® 5@ 5 A® &
B TEDRR B BB BB 5B 5@ BB 5B 5@ AD- 5B 5@ BB &
BRHBLERFEORE (D BB BB 5B 5@ &®- 5B 5@ a(@- 5B &5(@- & &




